A HSHEDL
M ARG £2 TA
&l H2NE |84 (&2 & &)
- _ — PoRE |
SN BB SR(EH) - MPAY - B 0l &t St HIRE2
H=EIED 21,869,287 32,965,860 A 11,096,573
Il 143,522
& 132,459
Al 21,593,306
AZXGH| £ &AM 18,164,393 27,095,422 A8,931,029
Il 143,522
& 132,459
Al 17,888,412
HdEME sS4 4,718,474 8,503,518 A3,785,044
= 78,343
Al 4,640, 131
M=zl & Ot 54 690,022 1,890,422 1,200,400
201 Ler23H| 74,680 4,680 70,000
01 AtR22ltl 74,680 4,680 70,000
OZ& tal & MSAt ELE 3,000,000& 3,000
OXNgHD AE=HE S8t Al 0I0IK 22
70,000,000& 70,000
OMStEE2a &Y 70,0008 x12&+23] 1,680
202 o4l 3,000 3,000 0
01 =UWxHl 3,000 3,000 0
24E MsU3oH(E, A2) 3,000,000& 3,000
203 HRF=&H| 17,000 17,000 0
03 AIMMFAHRFEIH| 17,000 17,000 0
Od=2H=s sS4 s g8 =& 17,000,000& 17,000
307 21201 595,342 1,865,742 1,270,400
02 QItAAE X 595,342 1,865,742 A1,270,400
OMS3ANE= 2HEXE 200,926,000& 200,926
OM=3l ¥ JIWZIISH XA 70,000,000& 70,000
ORMs72l HIIEHMSUs 86 2 EHEX
300,000,000& 300,000
OMS3 L IIHAISHH AR Xtz
1,868,000& x12& 22,416
ONUAIIHME 23l AIRA dXt=
2,000,000 2,000
StM=E sS4 762,400 704,000 58,400
307 21201 762,400 704,000 58,400
02 QIZtBAE XL 732,400 674,000 58,400
OMs3UR |84 60,000,000& 60,000
OHigesl & stdH=He EdEX
8,000,000 8,000
OguM=EXEZA XI& 344,400,000 344,400
Ou2s? =4 320,000,000& 320,000
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A HSHEDL
M ARXGH| £E2 A
el d2AHE |4 (el &)
- _ — Pl
SN BB S(EA) - MRAY - BES 03] &k o8 St BlRE2
04 QUIZHHAIE X 30,000 30,000 0
ONM1al SHAEH SU=20H2
30,000,000& 30,000
M= 203 R FSPNEE! 97,000 117,000 220,000
307 21201 97,000 117,000 20,000
02 BI2tAAE X 17,000 17,000 0
OHMo2el d=zM=sUs EdEX 9,000,000 9,000
OHM402] d=A2EHsUHe SEHEX
8,000,000 8,000
04 CIZHHALE X 80,000 100,000 220,000
O&=03l Ol& HalJH=| 80,000,000& 80,000
& ANEARSTE 29 3,090,709 3,296,896 2206, 187
301 YerE A3 3,089,949 3,296,896 206,947
11 =R - 2SESEA3 3,089,949 3,296,8% A206,947
OXE2SR &= JI==2 202,286,000 202,286
OXE2ESE Z= &i= 70,802
32+ 202,286,000& *1/12& 16,858
— JtAHIKI &I 202,286,000& 2/ 123 33,715
—ZES0H| 202,286,000 *1.2/12& 20,229
OAFESE 2= M4 Hl=E 3,680
—=shd 51,9903 *1H*42 | 208
—1SsHM 433,880& x2H*4Z J| 3,472
OHER2ST &= 5 5,040
— B At 40,0002 x6H + 122 2,880
—XAIE 20,0003 x9H +12& 2,160
OZ=2H = 250,000 x6H*12& 18,000
OXFE2EE Hd= AZ0H(HSH)
1,400,000, 000& 1,400,000
Oo=2s7Yy 3 130,000,000& 130,000
ORsdx M 250,000,000& 250,000
OEPIN FER & et
500, 0002 x2H*12& 12,000
OZ= Zdd|(Aldl, 2tall, ==HI)
30,0003 6H 262 12 56,160
O« 8| (Ald], 2tAEl, ==H])
24,0003 +42B 26« 12& 314,496
OSSR UEE JI2=2E3 186,755
—dHEE = 1,841,808,000& *1.5% 27,628
—H2dEE= 1,841,808, 0003 *2.665% 49,085
—LoIRABES 49,085,000 *6.55% 3,216
—IESE= 1,841,808,000& *1.3% 23,944
-0z 1,841,808,000& *4.5% 82,882
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A HEMSW
M ARG E2 ZA
ool MEXS A (o &2
SA - F SR (EH) - NPAY - BYS 0l & o e DS
ozes® U &EdE 74,110
—d R (2=13d) 800,000 92 7,200
—R42(38H4Y) 1,150,000& %102 11,500
— =2 (4815Y) 1,351,000& »72] 9,457
— =g (526Y) 1,480,000& *73 10,360
—E 2 (526) 1,111,000& +73] 7,777
—HILIAS(8249¢) 1,860,000& %102 18,600
—H3I &t 28HI(1022)
24,0002 48 8L 9,216
O2sRls € Fdl7g| 134,500
—ZER(EE S 68) 25,000,000& 25,000
—S42(A0I0/13 S 108) 20,000,000& 20,000
-2 (+E=E S 108) 8,500,000& 8,500
—dsgR(sds £ 78) 11,000,000 11,000
—SRR (23N S 105) 25,000,000 25,000
—HLIAR (22N S 95) 45,000,000 45,000
O2s=e 2 - 9 HXEHY
1,900,000& 48 91,200
OS2 Addl 10,000, 000& 10,000
OISESF=] 50,000,000& 50,000
Ost=aAHU3lY| 13,500
—Fat 2,000,000 2,000
&5 1,500,000& 1,500
—&3 5,000,000& 5,000
—HUA 5,000,000 5,000
O +=S=Hl 880
—=3g8 10,0002 ~8H «62 480
—HUASR 20,0003 4 H +53] 400
O2s® =4 ANERX 5,000,000 5,000
O2s: &g |AZeld] 4,500,000& +6CH 27,000
OZd=dd 2l 7,360
—SIIMEZ 350,000& 12 4,200
—& - ol AIE= 70,0002 *12& 840
-2 1,000 52| B *4 Al 2F%00 1,800
—SHNERE= 50,000& =22/ 100
—dE0I8s 35,0002 *12& 420
O -zdd 22 4,800
—HIIAEB= 350,000& 122 4,200
—& - St AIE= 50,0002 123 600
OsaE =4 2eldl 4,980
—2teltl 360,000& 122 4,320
—ZAJIAANES 20,000& 122 240
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FA MSISL
M ATXGH| E2 TA
ool MeXS sS4 (eel: e
SA B ER(S) - MRAE - BaS Of &r e HIDE
—dE0E= 35,0003 *12& 420
O=g& =24 224l 3,960
—2teldl 65,0002 123 780
—ZAIIANER 80,0002 12 960
—&JIAE= 150,000 x 12 1,800
—dE20E= 35,0003 *12& 420
Odl=d® =4 22l 3,840
—ZAIANER 100,000& *12& 1,200
—&IIANEZ 150,000& x 12 1,800
—dE20E= 35,0003 *12& 420
—a .otk AE= 35,0002 *122 420
OEETF =4 22yl 2,820
—2teld| 130,000& *12& 1,560
—ZAIANER 70,0002 12 840
—dE0E= 35,0003 *12& 420
O8+% =4 22l 3,780
—2teld| 130,000& *12& 1,560
—ZAIANER 50,0002 12 600
—&IINEZ 100,000& x12& 1,200
—d=20l8= 35,0003 *12& 420
OHIUAS =4 22/l 3,000
—2teld| 100,000& x12& 1,200
—SAIANER 50,0002« 12& 600
—&IINEZ 55,0002 123 660
—d201E= 45,0002 123 540
405 Kok =4 760 0 760
01 I ESFH S 760 0 760
O+g2 SHE3(L859X)7Y
380,000 x27H 760
d= M=zl =8 78,343 0 78,343
= 78,343
307 212told 78,343 0 78,343
= 78,343
04 QIZHHALE X 78,343 0 78,343
OdIAM M2 HMErZII(eU A, =S) X2
78,343,000 78,343
[ 78,343
HSAE QlZet 2= 1,559,450 7,707,721 26,148,271
H=AE SHst 1,559,450 491,888 1,067,562
401 AlZHIL SO 1,559,450 491,888 1,067,562
01 AlZHI 1,550,000 489,800 1,060,200
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FA: HSIEW
M ARXGH| £E2 A
&2l MSAE =t 15 (9] &
= = — AN L=
SA - HH SR (B) - MRAY - BAS il &t e imE=T
OER0t2 MSAMEREX 224
700,000, 000& 700,000
O3¥ S OlM=AIE 2=+ 200,000,000 200,000
OR&EM=s2 22301 MEAE =4
200,000& *2,500m’ 500,000
OorMaEa =2 &x 2,500,000 +60CH 150,000
03 AlE=0HHI 9,450 2,088 7,362
OER0I2 MESAIERX 222
700,000,000&+0.63% 4,410
O3 S OIAXM=AIE HES
200,000,000& =0.72% 1,440
ORdMs2 EXFIE HMsSAE =24
500,000,000 *0.72% 3,600
HSAE sX2el 10,307,512 9,510,519 796,993
ANEZe|3SH 2AE HH ALY 8,427,166 9,192,854 AT65,688
307 21201 8,427,166 9,192,854 AT65,688
05 QIZtRIE 8,427,166 9,192,854 AT65,688
ORIEHMSAE HHAISHI(SH)
8,427,166,000& 8,427,166
SUAISIHS 2 IS THE AL 317,665 317,665 0
307 2I2+0I M 317,665 317,665 0
05 GIZtRIE= 317,665 317,665 0
OSIEMSAIE HEAIZHI (S AL
317,665,000 317,665
QEYLE=HEH 29 1,562,681 0 1,562,681
201 223 780,478 0 780,478
01 AtR2teltl 136,885 0 136,885
O=g%& % st&¥4 AZE 7 50,000,000 50,000
O=A| gxtz 150,000 x 122 1,800
Ode=)| gtz 300,000& *12& 3,600
o222k 2f= 7l 150,000 x7H*23] 2,100
O3|JAIE HIZH] 4003 *600&H+ 12 2,880
OYZH U F43 8X2Y
80,0003 *3 A+12E 2,880
OJelsld g3l AEHE Z2M ===
125,000,000 *3. 3% 122 49,500
O=R1ZHl AIA8 84X ¥ FX 4,125
— & Xl 825,000 825
— S Al 275,000 128 3,300
OJIAHAH & MIA2F F 20,000,000 20,000
02 3324l 635,932 0 635,932
OLEYE=HH ML= 110,961
—JE2e3 6,660 *x470kwx12& 37,563
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A HSHEDL
Y ALXGH|

CHel: MSAIE SX2e (e &2
SA - HH SR (B) - MRAY - BAS il &t e imE=T
—ANERS 94. 1&*65,000kw* 12 73,398
OLLTYEXHE Aot=E 23 202,828
—&=E 1,240% 6,237 E+12& 92,807
—ot=% 1,470 6,237 E+12& 110,021
ORLELUERMEH SAIA 2F
729&%27,800m x 12& 243,195
OuneEsed 23 9,884m x1.04x500& *0.5 2,570
O 23 2,500,000& *23| 5,000
OdJ|etMzte] e === 1,025,640&+123 12,308
Os2dJ| otdEe| =2 100,000& *12& 1,200
OsdI| EIIBA === 150,000& *13] 150
OJtAAD &MY B8z 100,000& *13] 100
OIAHNHEH =2 500,000& *12] 500
O22d HBAE BA=E
180,000& *2CH *23] 720
OFAES A=H| 250,000 %53 1,250
OM=Z "3 Ha 600,000& 23| 1,200
OMz=x =HHA =8 100,000& * 13l 100
AEAIE Hotate| == 3,850
—aY ZEEY ZAI 1,430,000 %13 1,430
—UHds=== 220,000 *11& 2,420
OAlE SXZeld] 50,000,000& 50,000
03 A2 ZHI 7,661 0 7,661
OLLEYHEZ= JH&Al HAM 7,661,000& 7,661
206 Tz 10,000 0 10,000
01 M=l 10,000 0 10,000
O+=gd o4E 7Y 10,000
—43 7, 700360 £+ 123 5,544
—NZNSEAN 35,0003 100 12& 4,200
—dHEA 2,130& x10kg*12& 256
307 2I2+0I M 632,353 0 632,353
05 QIZtRIE 632,353 0 632,353
O=Z2At & ASXRP QIHH|(RIE) 632,353
—=G LAt 25,000,000& x9H 225,000
—&EX 27,170,830 »13& 353,222
—4UEE = 54,131,000& 54,131
405 KHobE=HI 139,850 0 139,850
01 ML SESFH = 139,850 0 139,850
O3 AsFLEZR FY 72,600,000& »1CH 72,600
OdsHtE 2 =Z& FAFH 2 7,250
—HEE AT 2,650,000 = 1CH 2,650
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A HSHEDL
Y ALXGH|

=Rl MSAE |X2 (S d 3
- _ - &4
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
—H=ENLNED 3,700,000& *1CH 3,700
—dEHAT] 900,000 *1CH 900
OLEdIE=HE QHICI0I7 2
60,000,000 60,000
dEHs s 1,578,957 1,373,664 205,293
| 143,522
= 54,116
Al 1,381,319
HEM=U HE & EAXE 917,113 754,752 162,361
202 OH| 2,000 2,000 0
01 =LHxHI 2,000 2,000 0
OdEN= & FoE: =20l
2,000,000& 2,000
203 EF =4I 8,000 10,000 22,000
03 A=Y= 8,000 10,000 A2,000
QdEH=E =4 S g2 8,000,000 8,000
307 2iz2told 907,113 742,752 164,361
02 2IAHBHEL 602,113 472,752 129,361
OdEN=Els & S=EAYS AR4 X
= 19,753
— 2= 1,005,130& * 122 13,142
—SJEAER 550,870& 123 6,611
CdgN=e 234l 2 159,360,000 159,360
OS=gAHes SEX (340 HAl)
160,000,000 160,000
O - 8= MaEtH=U3E HEl L SMEX
140,000,000 140,000
ON22el ZII&= HEMSUHES IIEX
120,000,000 120,000
Od=284d+ Uz 282X 3,000,000 3,000
04 QI2FHARE & 305,000 270,000 35,000
OAIEI| sEH=Ual 115,000,000 115,000
020118 AM2XS HO0IE=S Hal 5,000,000 5,000
4= FI =2 MU
115,000,000 115,000
OAEI 572UME 40,000
—AYFELAUI 3,000,000 3,000
-4 FE7U3 4,000,000& 4,000
—ZERELUI 4,000,000& 4,000
—ddF=E03 3,000,000 3,000
—S2AFTUI 26,000,000 26,000
OHEHNOIRE d= SSQHILIAWZ
30,000,000& 30,000
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SN
X‘liH:
l:|-0|:

- PSIE
- C(32) - NIRAR - BaS Ofl &t o4 St HIBE2
ZoHe! M=Es4d 233,600 214,000 19,600
201 Ler2dd| 37,200 0 37,200
01 AtR2teiH| 37,200 0 37,200
odoHeracle > S
19,200,000 19,200
(OFS{V SR bl X=s
300,000 x5& 123 18,000
307 212+01™ 196,400 214,000 A17,600
02 QltA&E X 158,000 189,000 231,000
ORMI31el &= Sz SR
13,000, 000& 13,000
O=E A &IJHA& 30,000,000 30,000
o201 I I dEMSUe XA
30,000,000 30,000
OoHoHel # Meua 27,000,000 27,000
OF ool Mg 204 29
10,000,000 10,000
OBJI=NH B MSLHE HIHE X
10,000,000 10,000
OHOHM= IS K&
5,000,000 5,000
OFHAHMLIME2 2EEL 33,000,000 33,000
04 QUIZHHALE X 38,400 25,000 13,400
OR AN HOIEN 2 CH S
24,000,000 24,000
O MEHM=sZ= 08 23 14,400,000 14,400
HENE WMET 105,000 30,000 75,000
201 &er=gll 105,000 0 105,000
01 ArZ2tcIbl 105,000 0 105,000
Odgd=w =29 105,000,000 105,000
T =z 42N 56,000 64,000 28,000
= 13,000
Al 43,000
307 212+01™ 56,000 64,000 A8,000
= 13,000
Al 43,000
02 QIAHALEE 56,000 64,000 28,000
OkHe 4= EdX& 52,000,000 52,000
= 13,000
Al 39,000
OZJIE o2 d2H=slz S8
4,000,000& 4,000
=S [ESPNESIN; 110,808 110,808 0
Jl 55,404
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2A:
X ZH .
(= I

&l

0x
Jo

e

k=4 pal
pym

JgH

16,621
38,783

307 glztold

=Y

110,808

55,404
16,621
38,783

110,808

02 QIZHHARE

110,808,000&

=z HnY

110,808
110,808

55,404
16,621
38,783

110,808

=N

36,936
18,468

5,540
12,928

36,936

307 glztold

=z Y

36,936
18,468

5,540
12,928

36,936

02 QIHAAEX
A

36,936,000

Rl IS

36,936

36,936
18,468

5,540
12,928

36,936

HSHIL A AIB A

=Y

99,500
69,650

8,955
20,89

63,168

36,332

307 2I2t01d

=Y

99,500
69,650

8,955
20,895

63,168

36,332

05 QIZHE

99,500,000&

99,500

99,500
69,650

8,955
20,895

63, 168

36,332

MEtds T2 N

20,000

10,000
10,000

20,000

307 glztold

20,000

10,000
10,000

20,000

02 gtz et

20,000,000&

20,000
20,000

10,000
10,000

20,000




FA M=AS
i NFEE THHSTUSD)

B9 Bw=3H X2 CERED
SA B ER(S) - MRAE - BaS Of &r e HIDE
WEEH T (HMSTEL) 1,066,734 3,183,038 A2,126,304
w=FH X 1,056,734 3,183,038 A2,126,304
stwuws X 1,066,734 3,183,038 A2,126,304

308 AXISHSOIE 1,056,734 3,183,038 A2,126,304
06 DEIIZUUEEE2 1,056,734 3,183,038 A2,126,304
ONSE2332 XNZAG(FLExE S 8H1)
1,056,734,000& 1,056,734
HY2SJHI(MFTEL) 53,160 62,400 A9,240
ey =gl 4,200 4,200 0
=gals] 4,200 4,200 0
203 R4l 4,200 4,200 0
04 EASIYREAY| 4,200 4,200 0
ORAN2EHRFAH 350,000& 123 4,200
Jl22&Hl 48,960 58,200 29,240
ety 23,040 27,240 24,200
201 YEr2H| 23,040 27,240 4,200
01 AtR2teldl 23,040 27,240 A4,200
ORAM2glI22 21,600
— g 50,0002 * 182 * 122 10,800
—= 50,0002 x18& » 12 10,800
OSAD| etz 120,000& *12& 1,440
1] 25,920 30,960 /5,040
202 OH| 25,920 30,960 A5,040
01 =UHAHI 25,920 30,960 A5,040
OgR=&I 20| 120,000« 18 * 122 25,920
Hees(Hsase) 2,595,000 2,625,000 230,000
LIS X E 100,000 100,000 0
JSHES 100,000 100,000 0
02 JISs8E=S 100,000 100,000 0
01 JISdES 100,000 100,000 0
OM=sTEII= 100,000,000 100,000
2= 2,495,000 2,525,000 230,000
SR UY=s s 2,320,000 2,525,000 /205,000
311 A =S0lAretet 320,000 525,000 /205,000
04 SLYRXLS0IA&& 320,000 525,000 /205,000
OSe=sd HEis oltget
8,000,000, 000 *4% 320,000
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S M=
g3 Hees(HMsdsy)
gl AT (Etl EE)
= - &4
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
601 sd=uE 2,000,000 2,000,000 0
04 R 2,000,000 2,000,000 0
BRSE AYNS AZ4E
2,000,000,000& 2,000,000
A2 = XG2S OlKaf & 175,000 0 175,000
311 =0l Atatat 175,000 0 175,000
02 T - FASHEI SIS0l Aot & 175,000 0 175,000
S EZZHEH A3 Olktaet
5,000,000,000& *3.5% 175,000
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